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y =-0.0257x + 47.991

=== simul: sensitivity [mV/fC]
e={==gsensitivity [mV]

A T73NH17/5X
e=={F==simul: ENC@input [#e-rms]
==fr==ENC@input [#e-rms]

A T73NH17/5X
------ Linear (simul: ENC@input [#e-rms])
— — —-Poly. (simul: ENC@input [#e-rms])
—-—--Linear (ENC@input [#e-rms])
—--—-Poly. (ENC@input [#e-rms])
------ Linear (simul: sensitivity [mV/fC])
------ Linear (sensitivity [mV])

R* = 0.9792
y = -0.0082x + 45.635 =
R? = 0.9994

y = 0.0062x? + 2.7521x + 511.66
R? = 0.9993

y = 3.9415x + 490.49
R?=0.993

y = 3.3771x + 410.18
R? = 0.9826

y= 0.0076x” + 1.9809x + 441.62
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R® =0.9986
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